°
=ZAaALAEI SHE= Ool= o= — OH=aSI EH
EEI'——l = Ao"aJI‘ AT E'I'DIE o"E?:’ T JE
=S MdYH/XIE olo]x|
oYy
THEL:
‘ Ci2l Yitad 25t fel 2.2 R0l
M o2
UItA Y, AEM 20|, AEF X2
Y
Jg chels &0l ¢daaol 3.
S2t A AEM ol £ AT Sl=
2379 HE U EH AME BN =
Egl:
ZEHo 2 2E
N
_Q = :
— ._l_‘ —]
_L "
S |
16
15
|/ |
+
i ?\\’5»5
"y
-
E5Y%
WIS RHHME
FEHS B A A B B1 D H L S
N
K0220.2001 HIO[X] 200 115 20 M8x30 55,5 230 800
K0220.2501 HO[ x| 250 115 20 M8x30 55,5 280 800
K0220.3001 Hl ol x| 300 115 20 M8x30 55,5 330 800
K0220.3501 o[ x| 350 115 20 M8x30 55,5 380 800
K0220.4001 HO[ x| 400 115 20 M8x30 55,5 430 800
K0220.2002 A 200 115 20 M8x30 55,5 230 800
K0220.2502 a4y 250 115 20 M8x30 55,5 280 800
K0220.3002 A% 300 115 20 M8x30 55,5 330 800
K0220.3502 A 350 115 20 M8x30 55,5 380 800
K0220.4002 a4y 400 115 20 M8x30 55,5 430 800

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

1/2



or

or
Hio

2/2

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



